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RRB MOCK TEST-1

1.  If A + B means A is the brother of B; A – B

means A is the sister of B and A × B means

A is the father of B. Which of the following

shows that C is the son of M?

(A) M – N × C + F (B) F – C + N × M

(C) N + M – F × C (D) M × N – C + F

2. Which word does not form a group in the

following questions?

(A) table (C) chair

(C) wood (D) cupboard

3. When the shape below is folded at the

dotted lines, which shape does it produce?

(A) (B)

(C) (D)

Directions(Q. no 4-5): In each of the following

question two statements are given, which are

followed by four conclusions (1), (2), (3) and

(4). Choose the conclusions which logically

follow from the given statements.

4. Statements:

No door is dog.

All the dogs are cats.

Conclusions:

1. No door is cat

2. No cat is door

3. Some cats are dog

4. All the cats are dogs

(A) Only (2) and (4)

(B) Only (1) and (3)

(C) Only (3) and (4)

(D) Only (3)

5. Statements:

All greens are blue.  All blue are white.

Conclusions:

1. Some blue are green

2. Some white are green

3. Some green are not white

4. All white are blue

(A) Only (1) and (2)

(B) Only (1) and (3)

(C) Only (1) and (4)

(D) Only (2) and (4)

1. A + B dk rkRi;Z A, B dk HkkbZ gS_ A – B dk rkRi;Z A,

B dh cgu gS rFkk A × B dk rkRi;Z A, B dk firk gSA
buesa ls fdldk rkRi;Z C, M dk iq=k gS\
(A) M – N × C + F (B) F – C + N × M
(C) N + M – F × C (D) M × N – C + F

2. fuEu esa ls dkSu&lk 'kCn ,d lewg ds varxZr ugha vkrk
gS\
(A) Vscy (B) dqlhZ
(C) ydM+h (D) vyekjh

3. uhps fn;s x;s vkd`fr dks fcanq;qDr js[kkvksa ij eksM+k tk,] rks
buesa ls dkSu&lh vkd`fr cusxh\

(A) (B)

(C) (D)

funsZ'k (iz-l- 4-5) : fuEufyf[kr izR;sd iz'u eas nks dFku vkSj
mlds fu"d"kZ (1), (2), (3) rFkk (4) fn;s x, mu fu"d"kksZa
p;u djsa tks rkfdZd :i ls dFkuksa dk vuqlj.k djrs gSaA
4. dFku% dksbZ njokt+k dqÙkk ugha gSA

lHkh dqÙks fcfYy;k¡ gSA
fu"d"kZ%
1. dksbZ njokt+k fcYyh ugha gSA
2. dksbZ fcYyh njokt+k ugha gSA
3. dqN fcfYy;k¡ dqÙks gSaA
4. lHkh fcfYy;k¡ dqÙks gSA
(A) dsoy (2) rFkk (4)

(B) dsoy (1) rFkk (3)

(C) dsoy (3) rFkk (4)

(D) dsoy (3)

5. dFku% lHkh gjk uhyk gSA
lHkh uhyk liQsn gSA

fu"d"kZ%
1. dqN uhyk gjk gSA
2. dqN liQsn gjk gSA
3. dqN gjk liQsn ugha gSA
4. lHkh liQsn uhyk gSA
(A) dsoy (1) rFkk (2)

(B) dsoy (1) rFkk (3)

(C) dsoy (1) rFkk (4)

(D) dsoy (2) rFkk (4)
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6. Which number should replace the question
mark in the following table?

17 8 5 5

13 7 5 4

6 12 6 3

10 6 4 ?

(A) 4 (B) 5
(C) 6 (D) 7

7. If in the word ‘DISTURBANCE’, the first
letter is interchanged with the last letter,
the second letter is interchanged with the
tenth letter and so on, which letter would
come after the letter T in the newly formed
word ?
(A) S (B) I
(C) T (D) N

8. If JOSEPH is coded as FKOALD, then
GEORGE will be coded as :
(A) CAKNCA (B) HAKNCA
(C) CBKNCA (D) CALNCA

9. In a queue, Amrita is 10th from the front
while Mukul is 25th from behind and
Mamta is just in the middle of the two. If
there are 50 persons in the queue. What
position does Mamta occupy in the queue?
(A) 20th (B) 19th
(C) 18th (D) 17th

10. An institute organised a fete. 
1

5
 of the girls

and 
1

8
 of the boys participated in it. What

fraction of the total number of students took
part in the fete ?

(A)
2

13
(B)

13

40

(C) Data inadequate (D)
5

13
11. A man walks 5 km toward south and then

turns to the right. After walking 3 km he
turns to the left and walks 5 km. Now in
which direction is he from the starting
place?
(A) West (B) South
(C) North-East (D) South-West

12. Look at this series: 544, 509, 474, 439, ...
What number should come next?
(A) 404 (B) 414
(C) 420 (D) 445

13. Seema is daughter-in-law of Sudhir and
sister-in-law of Ramesh. Mohan is the son
of Sudhir and only brother of Ramesh.
Seema is Mohan’s ..........
(A) sister-in-law (B) sister
(C) wife (D) niece

6. fuEufyf[kr rkfydk esa iz'u fpUg ds LFkku ij dkSu&lh
la[;k gksuh pkfg,\

17 8 5 5

13 7 5 4

6 12 6 3

10 6 4 ?

(A) 4 (B) 5
(C) 6 (D) 7

7. ;fn 'DISTURBANCE' 'kCn esa igys v{kj dks vafre
v{kj ls cny fn;k tkrk gS] nwljs v{kj dks nlosa v{kj ls
cny fn;k tkrk gS vkSj ;g Øe tkjh jgrk gS rks dkSu&lk
v{kj u;s xfBr 'kCn esa v{kj T ds ckn vk,xk\
(A) S (B) I
(C) T (D) N

8. ;fn JOSEPH dh dwV Hkk"kk FKOALD gS_ rks
GEORGE  dh dwV Hkk"kk gksxh&
(A) CAKNCA (B) HAKNCA
(C) CBKNCA (D) CALNCA

9. ,d drkj esa] ve`rk lkeus ls 10osa LFkku ij tcfd eqdwy
ihNs ls 25osa LFkku ij gS rFkk eerk nksuksa ds Bhd chp esa
gSA ;fn drkj esa 50 yksx gSA drkj esa eerk fdl LFkku ij
gSA
(A) 20oka (B) 19oka
(C) 18oka (C) 17oka

10. ,d laLFkku ,d mRlo vk;ksftr fd;k rFkk yM+fd;ksa dk

1

5
 Hkkx rFkk yM+dksa dk 

1

8
 Hkkx mlesa Hkkx ysrs gSA dqy

Nk=kksa dk fdruk Hkkx mRlo esa Hkkx fy;k\

(A)
2

13
(B)

13

40

(C) vkadM+sa vi;kZIr gSA (D)
5

13

11. ,d O;fDr nf{k.k dh vksj 5 fdeh- tkrk gS rc og nk;sa
eqM+rk gSA 3 fdeh- pyus ds ckn og vius ck;sa eqM+rk gS
rFkk 5 fdeh- pyrk gSA vc og vius izkjafHkd LFkku ls
fdl fn'kk esa gS\
(A) if'pe (B) nf{k.k
(C) mÙkj&iwoZ (D) nf{k.k&if'pe

12. bl J̀a[kyk dks ns[ksa%
544, 509, 474, 439, ..........

J̀a[kyk dh vxyh la[;k Kkr djsaA
(A) 404 (B) 414
(C) 420 (D) 445

13. lhek lq/hj dh cgq rFkk jes'k dh lkyh gSA eksgu] lq/hj
dk csVk rFkk jes'k dk bdykSrk HkkbZ gSA lhek eksgu dh &
(A) lkyh gS (B) cgu gS
(C) iRuh gS (D) Hkrhth gS
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Directions (Q. No. 14-16): Study the following
sequence of digit-letter-symbol carefully and
answer the questions given below:

R * T J L 2 $ D = M # 8 C % B < K 1 & A W
? P E + Q @ 7 F 6

14. How many such numbers are there in the
above sequence each of which is
immediately preceded by a consonant and
immediately followed by a symbol?
(A) Nil (B) One
(C) Three (D) Two

15. Which of the following is sixth to the left of
eighteenth element from the left?
(A) C (B) #
(C) % (D) 8

16. Choose the word which is different from the
others.
(A) Kiwi (B) Eagle
(C) Emu (D) Ostrich

17. How many such digits are there in the
number 7346285 which are as far away
from the beginning of the number, as they
will be when arranged in ascending order
within the number?
(A) None (B) One
(C) Two (D) Three

18. Which one will replace the question mark ?

18
12 30

6 8

16
24

40

?

45
18

27

(A) 18 (B) 12
(C) 9 (D) 6

19. In the following questions find out the
alternative which will replace the question
mark.
Ornithologist : Bird :: Archealogist : ?
(A) Islands (B) Mediators
(C) Archealogy (D) Aquatic

20. In the following questions, arrange the given
words in a meaningful sequence and thus
find the correct answer from alternatives.
Arrange the words given below in a
meaningful sequence.
1. Key 2. Door
3. Lock 4. Room
5. Switch on
(A) 5, 1, 2, 4, 3 (B) 4, 2, 1, 5, 3
(C) 1, 3, 2, 4, 5 (D) 1, 2, 3, 5, 4

21. The total age of Lucky, Nitya and Vivek is
80 years. What was the total of their ages
three years ago ?
(A) 71 years (B) 72 years
(C) 74 years (D) 77 years

22. Choose the correct alternative that will
continue the same pattern and replace the
question mark in the given series.
125, 80, 45, 20, ?
(A) 5 (B) 8
(C) 10 (D) 12

funsZ'k (iz-l- 14-16) : fuEu v{kj&vad&izrhd ds vuqØe
dks è;ku ls i<+s rFkk uhps fn;s x, iz'uksa ds mÙkj nsa%

R * T J L 2 $ D = M # 8 C % B < K 1 & A W

? P E + Q @ 7 F 6

14. Åij fn;s x;s J̀a[kyk esa ,sls fdrus vad gS ftlesa izR;sd
vad ds igys ,d O;atu rFkk ckn esa ,d izrhd gS\
(A) dksbZ ugha (B) ,d
(C) rhu (D) nks

15. fuEu esa ls dkSu ck;as ls vB~kgjosa ds ck;ha NBs LFkku ij gS\
(A) C (B) #
(C) % (D) 8

16. fuEu esa ls ml 'kCn dk p;u djs tks nwljksa ls vyx gSA
(A) dhoh (B) phy
(C) ,ew (D) 'kqrqjeqxZ

17. la[;k 7346285 esa ,sls fdrus vad gS tks la[;k ds
'kq:vkr ls mrus gh nwjh ij gks] ftrus nwjh ij vius vkjksgh
Øe esa O;ofLFkr fd;k tk,xk\
(A) dksbZ ugha (B) ,d
(C) nks (D) rhu

18. fuEu esa dkSu&lk fodYi iz'u&fpUg dks cnysxk\

18
12 30

6 8

16
24

40

?

45
18

27

(A) 18 (B) 12
(C) 9 (D) 6

19. fuEufyf[kr iz'uksa es dkSu&lk fodYi iz'u fpUg ds LFkku
ij gksxk\
i{khfoKkuh % i{kh % iqjkrRofon~ % \
(A) }hi (B) eè;LFk
(C) iqjkrRo (D) tyh;

20. fuEufyf[kr iz'uksa esa] fn;s x;s 'kCnksa dks lkFkZd vuqØe esa
O;ofLFkr djsa rFkk fodYiksa ls lgh mÙkj pqusaA
1. pkch 2. njokt+k
3. rkyk 4. dejk
5. [kksyuk
(A) 5, 1, 2, 4, 3 (B) 4, 2, 1, 5, 3
(C) 1, 3, 2, 4, 5 (D) 1, 2, 3, 5, 4

21. yDdh] fuR;k rFkk foosd dh dqy vk;q 80 o"kZ gSA rhu
o"kZ igys mudh dqy vk;q fdruh Fkh\
(A) 71 o"kZ (B) 72 o"kZ
(C) 74 o"kZ (D) 77 o"kZ

22. fn;s x;s J̀a[kyk esas ml fodYiksa dk p;u djsa tks J̀a[kyk esa
ekStwn iz'uokpd fpUg ds LFkku ij bLrseky gksxkA
125, 80, 45, 20, ?

(A) 5 (B) 8
(C) 10 (D) 12



Ph: 09555108888,  09555208888 4

2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

23. In the following alphabet second half is
written first and then the first half is
arranged in reverse order. Then which of
the following will be the 5th letter to the
left of 16th letter from the right?
A B C D E F G H I J K L M N O P Q R S T U
V W X Y Z
(A) S (B)  T
(C) P (D) F

24. Choose the box that is similar to the box
formed from the given sheet of paper (X).

(X)

(1) (3) (4)(2)

(A) 1 and 4 only (B) 3 and 4 only
(C) 1 and 2 only (D) 2 and 3 only

25. In a certain code language the word
'LOGICAL' is coded as 'NQIJAYJ'. How will
you code the word FINANCE ?
(A) HKPBLAC (B) HPBKLAC
(C) HKLPBAC (D) HPBKLAC

26. The cost of food accounted for 25% of the
income of particular family. If the income
gets raised by 20% then what should be
the percentage decrease in the food
expenditure so as expenditure unchanged?
(A) 3.5% (B) 8.33%
(C) 4.16% (D) 5%

27. Ramesh deposited ` 15,600 is a fixed
deposit at the rate of 10% per annum at
simple interest. After every second year, he
adds his interest earnings to the principal.
The total interest at the end of fourth year
is
(A) ` 6468 (B) ` 6684
(C) ` 6864 (D) ` 6864

28. A person cover certain distance by Train,
Bus and Car in ratio 4 : 3 : 2. The ratio of
fair is 1 : 2 : 4 per km. The total expenditure
of the fair is ` 720. Then, the fare of train is
(A) ` 140 (B) ` 150
(C) ` 160 (D) ` 170

23. fuEufyf[kr o.kZekyk esa nwljs vk/s dks igys fy[ks tkrs gSa
rFkk igys vk/s dks mYVs Øe esa fy[kdj O;ofLFkr fd;s
tkrs gSaA rc fuEu esa ls dkSu&lk v{kj nk;sa ls 16osa v{kj
ds ck;ha vksj 5oka v{kj gS\
A B C D E F G H I J K L M N O P Q R S T U
V W X Y Z
(A) S (B) T
(C) P (D) F

24. fn;s x;s dkxt (X) ds 'khV ls cus cDls ds leku vkdkj
ds cDls dk p;u djsaA

(X)

(1) (3) (4)(2)

(A) dsoy 1 vkSj 4 (B) dsoy 3 vkSj 4
(C) dsoy 1 vkSj 2 (D) dsoy 2 vkSj 3

25. fdlh dwV Hkk"kk esa 'kCn 'LOGICAL' dks 'NQIJAYJ'

ds :i esa fy[krs gSaA 'kCn 'FINANCE' dks vki dSls
fy[ksaxsa\
(A) HKPBLAC (B) HPBKLAC
(C) HKLPBAC (D) HPBKLAC

26. ,d ifjokj dh vk; dk 25% Hkkx Hkkstu ij [kpZ gksrk
gSA ;fn vk; esa 20% dh o`f¼ gksrh gS] rks Kkr dhft,
O;; leku j[kus ds fy, Hkkstu ij O;; esa dqy vk; dk
fdrus izfr'kr deh djuh gksxh\
(A) 3.5 % (B) 8.33 %
(C) 4.16 % (D) 5 %

27. jes'k us ` 15,600 lk/kj.k C;kt dh 10% okf"kZd nj
ls ,d [kkrs esa tek djk,A C;kt ls gqbZ vk; dks og izfr
nwljs o"kZ ckn ewy/u esa feyk nsrk gSA mls pkSFks o"kZ ds vUr
esa feyus okyk C;kt gS&
(A) ` 6468 (B) ` 6684
(C) ` 6864 (D) ` 6872

28. ,d O;fDr ,d fuf'pr nwjh Vªsu] cl vkSj dkj }kjk Øe'k%
4 : 3 : 2 vuqikr eas r; esa djrk gSA muds fdjk, dk
vuqikr Øe'k% 1 : 2 : 4 gSA dqy fdjk;k ` 720 gS] rks
jsy dk fdjk;k izfr fdeh gS&
(A) ` 140 (B) ` 150
(C) ` 160 (D) ` 170
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29. A shopkeeper calculates percentage profit
on the buying price and another on the
selling price. What will be their difference
in profits if both claim a profit of 20% on
goods sold for ` 3000?
(A) ` 200 (B) ` 100
(C) ` 400 (D) ` 150

30. Two taps are running continuously to fill a
tank. The 1st tap could have filled it in 5
hours by itself and the second one by itself
could have filled it in 20 hours, but the
operator failed to realise that there was a
leak in the tank from the beginning which
caused a delay for one hour in the filling of
the tank. Find the time in which the leak
would empty a filled tank:
(A) 15 hours (B) 20 hours
(C) 25 hours (D) 40 hours

31. 8 54 38 108 169     = ?

(A) 4 (B) 6
(C) 8 (D) 10

32. Which is the largest fraction among

3

8
,
3

5
,
2

3
 and 

1

2
.

(A)
2

3
(B)

3

5

(C)
1

2
(D)

3

8

33. A cylinder and a cone have equal radii of
their bases and equal heights. If their
curved surface areas are in the ratio 8 : 5,
the ratio of their radius and height is:
(A) 1 : 2 (B) 1 : 3
(C) 2 : 3 (D) 3 : 4

34. A man, a woman and a girl worked for a
contractor for the same period. A man is
twice efficient a woman and a woman is
thrice efficient a girl and ̀  10,000 were given
to all of them. What is the sum of money
received by a woman and a girl together?
(A) ` 5500 (B) ` 4500
(C) ` 4000 (D) ` 6000

35. In an election among 3 candidates A, B and
C, A gets 50% more votes than B. A also
beats C by 1,80,00 votes. If it is known that
B gets 5 percentage more votes than C, then
find the number of voters on the voting list
(given that 90% of the voters on the voting
list voted and no votes were invalid.
(A) 72,000 (B) 81,000
(C) 90,000 (D) 1,00,000

29. ,d nqdkunkj ykHk izfr'kr dh x.kuk] Ø; ewY; ij rFkk
nwljk nqdkunkj foØ; ewY; ij djrk gSA nksuksa ;fn
` 3000 esa oLrq dksa cspus ij 20% ykHk dekus dk nkok
djrk gS rks nksuksa nqdkunkjks }kjk dek;s x;s ykHk dk varj
Kkr dhft,A
(A) ` 200 (B) ` 100
(C) ` 400 (D) ` 150

30. nks uy fdlh VSad dks ,d lkFk yxkrkj Hkjrs gSA os nksuksa
VSad dks vyx&vyx Øe'k% 5 ?k.Vs rFkk 20 ?k.Vs esa Hkj
ldrs gS] ysfdu vkWijsVj Hkwy tkrk gS fd VSad esa ,d fNnz
Hkh gS ftlds dkj.k VSad dks Hkjus esa 1 ?k.Vs dk vf/d
le; yxrk gS] rks Kkr dhft, fd og fNnz ml Hkjs gq,
VSad dks fdrus le; esa [kkyh dj ldrk gS\
(A) 15 ?k.Vs (B) 20 ?k.Vs
(C) 25 ?k.Vs (D) 40 ?k.Vs

31. 8 54 38 108 169     = ?

(A) 4 (B) 6
(C) 8 (D) 10

32. buesa ls lcls cM+h fHkUu dkSu lh gS &

3

8
,
3

5
,
2

3
 rFkk 

1

2

(A)
2

3
(B)

3

5

(C)
1

2
(D)

3

8

33. ,d csyu rFkk ,d 'kadq dh vk/kj f=kT;k vkSj Å¡pkbZ
leku gSA muds i`"Bh; {ks=kiQy dk vuqikr 8 : 5 gks] rks
mldh f=kT;k o Å¡pkbZ dk vuqikr gS &
(A) 1 : 2 (B) 1 : 3
(C) 2 : 3 (D) 3 : 4

34. ,d iq:"k] ,d vkSjr rFkk ,d yM+dh lkFk ,d Bsdsnkj ds
lfUuè; esa cjkcj le; ds fy, dke djrk gSA ,d vkneh
dh dk;Z{kerk ,d vkSjr ls nksxquh gS rFkk ,d vkSjr dh
dk;Z{kerk ,d yM+dh ls 3 xquk gS] rFkk bl dke ds fy,
mUgsa ` 10,000 fn;s tkrs gSA rks Kkr dhft, /ujkf'k esa
,d vkSjr rFkk ,d yM+dh dk dqy Hkkx fdruk gS\
(A) ` 5500 (B) ` 4500
(C) ` 4000 (D) ` 6000

35. ,d pquko esa rhu mEehnokj A, B rFkk C gS] A, B ls
50% vf/d er izkIr djrk gS rFkk A, C dks 180,00

erksa ls gjkrk gSA ;fn ;g Kkr gksrk gks fd B, C ls 5%

vf/d er izkIr djrk gS] rks ernkrk lwph esa] ernkrkvksa
dh la[;k Kkr dhft,\ [fn;k x;k gS ernkrk lwph ds
90% ernkrkvksa us er fn;s rFkk dksbZ er voS/ ugh gS]
(A) 72,000 (B) 81,000
(C) 90,000 (D) 1,00,000
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36. A jar contained a mixture of two liquids A
and B in the ratio 4 : 1. When 10 litres of
the mixture was taken out and 10 litres of
liquid B was poured into the jar, the ratio
became 2 : 3. The quantity of liquid A
contained in the jar initially was-
(A) 4 litres (B) 8 litres
(C) 16 litres (D) 32 litres

37. Two car start from same place at same time.
Speed of first car is 10 km/hr and the speed
of IInd car is 8 km/hr. The 2nd car increases

its speed 
1

2
 km/hr after each hour. After

how much distance the second overtake the
first?
(A) 90 km (B) 100 km
(C) 180 km (D) None of these

38. A certain sum amount to ` 5,832 in 2 years
at 8% per annum compound interest. Find
the sum.
(A) ` 5,000 (B) ` 5,200
(C) ` 5,280 (D) ` 5,400

39. A boys was asked to find the value of 
3

8
 of

a sum of money. Instead of multiplying the

sum by 
3

8
 he divided it by 

3

8
 and then his

answer exceeded by ` 55. Find the correct
answer?
(A) ` 9 (B) ` 24
(C) ` 64 (D) ` 13

40. How many seconds will a 500 metre long
train take to cross a man walking with a
speed of 3 km/hr in the direction of the
moving train if the speed of the train is
63 km/hr?
(A) 25 sec (B) 30 sec
(C) 40 sec (D) 45 sec

41. The HCF of two numbers is 15 and their
LCM is 225. If one of the number is 75, then
the other number is :
(A) 105 (B) 90
(C) 60 (D) 45

42. A rectangular lawn 60 m ×40 m has two
roads each 5 m wide running between the
park. One is parallel to length and other is
parallel to width. Cost of gravelling is 60
paise/m2. Find the total cost of gravelling
(A) ` 285 (B) ` 300
(C) ` 275 (D) ` 270

43. An item is marked at ` 240 for sale. If two
successive discounts of 10% and 5% are
allowed on the marked price, the selling
price of the article will be
(A) ` 205.20 (B) ` 204
(C) ` 34.80 (D) ` 36

36. fdlh crZu esa nks nzO; A rFkk B dk feJ.k 4 : 1 ds vuqikr
esa FkkA 10 yhVj feJ.k fudkydj mlds cnys 10 yhVj
nzO; B Mkyus ij crZu ds feJ.k esa ;g vuqikr 2 : 3 esa
ifjofrZr gks x;kA crZu esa nzO; A dh ek=kk Fkh&
(A) 4 yhVj (B) 8 yhVj
(C) 16 yhVj (D) 32 yhVj

37. nks dkj fdlh LFkku ls ,d lkFk Øe'k% 10 fdeh-@?k.Vk
vkSj 8 fdeh-@?k.Vk dh pky ls pyuk vkjEHk djrh gSA

nwljh dkj izR;sd ?k.Vs ds ckn viuh pky esa 
1

2
 fdeh-

@?k.Vk c<+ksrjh djrk gSA Kkr dhft, fd fdruh nwjh ij
nwljh dkj igyh dkj dks ikj djsxh\
(A) 90 fdeh- (B) 100 fdeh-
(C) 180 fdeh- (D) buesa ls dksbZ ugha

38. dksbZ jkf'k 2 o"kksZa esa 8% izfro"kZ pØo`f¼ C;kt nj ls
` 5,832 gks tkrh gSA jkf'k Kkr djsaA
(A) ` 5,000 (B) ` 5,200
(C) ` 5,280 (D) ` 5,400

39. ,d yM+ds dks fdlh jkf'k dk 
3

8
 Hkkx dh x.kuk djus ds

fy, dgk x;kA og ml jkf'k esa 
3

8
 ls xq.kk djus ds ctk;

3

8
 ls ml jkf'k esa Hkkx ns fn;kA rks iQyLo:i ifj.kkeh

jkf'k esa ` 55 dh o`f¼ gks xbZA lgh mÙkj dh x.kuk djsaA
(A) ` 9 (B) ` 24
(C) ` 64 (D) ` 13

40. 63 fdeh-@?k.Vk dh xfr ls py jgh 500 eh- yach
jsyxkM+h ,d O;fDr tks jsyxkM+h dh fn'kk esa 3 fdeh-@?k.Vk
dh xfr ls py jgk gS] dks fdrus lsd.M esa ikj djsxh\
(A) 25 lsd.M (B) 30 lsd.M
(C) 40 lsd.M (D) 45 lsd.M

41. nks la[;kvksa dk e- l- 15 rFkk mudk y- l- 22 gSA ;fn
muesa ls ,d la[;k 75 gks] rks nwljh la[;k gS&
(A) 105 (B) 90
(C) 60 (D) 45

42. ,d vk;rkdkj ikdZ 60 eh- × 40 eh- ds chpksa chp 5
eh- pkSM+s nks jkLrs gSaA ,d jkLrk yEckbZ ds lekarj gS rFkk
nwljk pkSMk+bZ ds lekUrj gSA ;fn iFk cukus dh ykxr 60

iSls izfr oxZ eh- gS rks dqy [kpZ Kkr djsaA
(A) ` 285 (B) ` 300
(C) ` 275 (D) ` 270

43. ,d oLrq dks cspus ds fy, vafdr ewY; ̀  240 j[kk x;kA
;fn vafdr ewY; ij Øe'k% 10% rFkk 5% ds nks
Øekxr cV~Vs fn;s tkrs gS] rks ml oLrq dk foØ; ewY;
gksxk&
(A) ` 205.20 (B) ` 204
(C) ` 34.80 (D) ` 36
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44. The sum (101 + 102 + 103 + .... + 200) is
equal to :
(A) 15000 (B) 15025
(C) 15050 (D) 25000

45. A shopkeeper sold goods for ` 2400 and
made a profit of 25% in the process. Find
his profit percent if he sold his goods for
` 2040.
(A) 6.25% (B) 7%
(C) 6.20% (D) 6.5%

46. Sita's present age is 
6

5
 times of her age at

the time of her marriage and she got married

6 years ago. Age of her son is 
1

12
 of her

current age. Find the age of her son.
(A) 2 years (B) 5 years
(C) 4 years (D) 3 years

47. In the given figure, ADB is :-

C

A
TP

D

B

48°

(A) 144° (B) 132°
(C) 48° (D) 96°

Directions (48 - 50): Two different finance
companies declare fixed annual rate of interest
on the amounts invested with them by
investors. The rate of interest offered by these
companies may differ from year to year
depending on the variation in the economy of
the country and the banks rate of interest. The
annual rate of interest offered by the two
Copmanies P and Q over the years are shows
by the line graph provided below. Answer the
questions based on this graph.
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ANNUAL RATE OF INTEREST OFFERED BY 
TWO FINANCE COMPANIES OVER THE YEAR

 Years

44. (101 + 102 + 103 + .... + 200) dk ;ksx cjkcj
gksxk&
(A) 15000 (B) 15025
(C) 15050 (D) 25000

45. ,d nqdkunkj ` 2400 esa ,d oLrq cspus ij 25% dk
ykHk dekrk gS] ;fn og oLrq dks ` 2040 esa csps] rks
mldk ykHk izfr'kr Kkr djsaA
(A) 6.25% (B) 7%
(C) 6.20% (D) 6.5%

46. lhrk dh orZeku vk;q mldh 'kknh ds le; dh vk;q dk

6

5
xq.kk gSa vkSj mldh 'kknh 6 o"kZ iwoZ gqbZ FkhA lhrk ds csVs

dh vk;q mldh orZeku vk;q dk 
1

12
xq.kk gSA mlds csVs

dh vk;q Kkr dhft,A
(A) 2 o"kZ (B) 5 o"kZ
(C) 4 o"kZ (D) 3 o"kZ

47. fn;s x;s fp=k esa] ADB gS&

C

A
TP

D

B

48°

(A) 144° (B) 132°
(C) 48° (D) 96°

funsZ'k (48 - 50): nks fofHkUu foÙkh; dEifu;k¡ vius fuos'kdksa
dks ,d fuf'pr C;kt nj ij C;kt dh ?kks"k.kk dh A C;kt
dk nj izR;sd o"kZ ns'k dh vFkZO;oLFkk rFkk cSad nj esa
fHkUurk ds dkj.k fofHkUu o"kksZ esa vyx&vyx gksrk gSA uhps
fn, x, ykbu xzkiQ esa nks dEifu;k¡ P rFkk Q }kjk fofHkUu
o"kksZa esa fn, x, okf"kZd C;kt nj dks n'kkZrk x;k gSA bl xzkiQ
ij vk/kfjr iz'uksas ds mÙkj nasA
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dEiuh P dEiuh Q

nks foÙkh; dEifu;ksa }kjk fofHkUu o"kksZa esa fn;k 

x;k okf"kZd C;kt nj

 o"kZ
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48. If two different amount in the ratio 8 : 9 are
invested in Companies P and Q respectively
in 2014, then the amounts received after
one year as interests from Companies P and
Q are respectively in the ratio :
(A) 2 : 3 (B) 3 : 4
(C) 6 : 7 (D) None of these

49. In 2012, a part of  ` 30 lakhs was invested
in Company P and the rest was invested in
Company Q for one year. The total interest
received was ` 2.43 lakhs. What was the
amount invested in Company P ?
(A) ` 9 lakhs (B) ` 11 lakhs
(C) ` 12 lakhs (D) None of these

50. A sum of `4.75 lakhs was invested in
Company Q in 2011 for one year. How much
more interest would have been earned if the
sum was invested in Company P ?
(A) ` 19,000 (B) ` 14,250
(C) ` 11,750 (D) None of these

51.  Brass gets discoloured in air because of the
presence of which of the following gases in
air ?
(A) Oxygen
(B) Hydrogen sulphide
(C) Carbon dioxide
(D) Nitrogen

52.  Guarantee to an exporter that the importer
of his goods will pay immediately for the
goods ordered by him, is known as
(A) Letter of Credit (L/C)
(B) laissezfaire
(C) inflation
(D) None of the above

53. Which of the following is a non metal that
remains liquid at room temperature?
(A) Phosphorous (B) Bromine
(C) Chlorine (D) Helium

54. Who among the following Prime Ministers
of India never had to seek trust vote (vote
of confidence) from the Lok Sabha?
(A) Indira Gandhi
(B) P.V. Narasimha Rao
(C) H.D. Devegowda
(D) Manmohan Singh

55. Chlorophyll is a naturally occurring chelate
compound in which central metal is
(A) copper (B) Magnesium
(C) iron (D) Calcium

56.  Exposure to sunlight helps a person
improve his health because
(A) the infrared light kills bacteria in the

body
(B) resistance power increases
(C) the pigment cells in the skin get

stimulated and produce a healthy tan
(D) the ultraviolet rays convert skin oil into

Vitamin D

48. ;fn nks fofHkUu jkf'k 8 : 9 ds vuqikr esa Øe'k% dEifu;ksa
P rFkk Q esa o"kZ 2014 esas fuosf'kr fd, x, gS] rks o"kZ ds
var esa nksuksa dEifu;ksa P rFkk Q ls C;kt ds :i esa izkIr
gksus okys jkf'k dk vuqikr gS
(A) 2 : 3 (B) 3 : 4

(C) 6 : 7 (D) buesa ls dksbZ ugha
49. o"kZ 2012 esa] ` 30 yk[k dk ,d Hkkx dEiuh P esa rFkk

'ks"k Hkkx dEiuh Q esa ,d o"kZ ds fy, fuosf'kr dh xbZA
dqy  C;kt ` 2.43 yk[k izkIr gqvk A dEiuh P esa
fuosf'kr jkf'k D;k Fkk\
(A) ` 9 yk[k (B) ` 11 yk[k
(C) ` 12 yk[k (D) buesa ls dksbZ ugha

50. o"kZ 2011 esa `4.75 yk[k dh jkf'k ,d o"kZ ds fy,
dEiuh Q esa fuosf'kr fd;s x;sA ;fn ;g jkf'k dEiuh P esa
fuosf'kr dh xbZ gksrh rks fdruk vf/d C;kt feyrk \
(A) ` 19,000 (B) ` 14,250

(C) ` 11,750 (D) buesa ls dksbZ ugha
51.  ok;q esa mifLFkr fuEu esa ls fdl xSl ds dkj.k rkack jaxghu

gks tkrk gS ?
(A) vkWDlhtu
(B) gkbMªkstu lYiQkbM
(C) dkcZuMkb vkWDlkbM
(D) ukbVªkstu

52.  ,d vk;krdÙkkZ }kjk fu;kZrdÙkkZ dks fn;s tkus okys og
xkjaVh ftlesa oLrq eaxkus ds rqjar ckn Hkqxrku dj fn;k
tk,xk] tkuk tkrk gS&
(A) 'kk[k i=k (L/C)

(B) ySlstiQs;j
(C) eqnzk&LiQhfr
(D) mijksDr esa ls dksbZ ugha

53. fuEu esa ls dkSu&lk og v/krq gS tks lkekU; rkieku ij
nzO; voLFkk esa ik;k tkrk gS ?
(A) iQkLiQksjl (B) czksfeu
(C) Dyksfju (D) fgyh;e

54. Hkkjr ds fuEufyf[kr esa ls dkSu&ls iz/kuea=kh dks yksd&lHkk
esa dHkh Hkh fo'okl er ugha ekaxuk iM+k\
(A) bafnjk xka/h (B) ih- oh- ujflag jko
(C) ,p- Mh- nsosxkSM+k (D) eueksgu flag

55. DyksjksfiQy ,d izkÑfrd :i ls ik;k tkus okyk fdysV
;kSfxd gS ftlesa dsUnzh; inkFkZ gS&
(A) rk¡ck (B) eSXuhf'k;e
(C) yksgk (D) dSfYl;e

56.  lw;Z dk izdk'k fdlh O;fDr ds LokLF; dks lq/kjrk gS D;ksafd
(A) 'kjhj esa mifLFkr cSDVhfj;k dks vojDr fdj.ksa ekjrh gSA
(B) izfrj{kk 'kfDr dks c<+krk gS
(C) Ropk ds o.kZd dksf'kdkvksa rFkk LokLF; 'kjhj ds

o/Zu ds fy,
(D) vojDr fdj.ksa Ropk ds rsy dks foVkfeu D esa ifjofrZr

djrs gSaA
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57. Which of the following is used in pencils?
(A) Graphite (B) Silicon
(C) Charcoal (D) Phosphorous

58. The item ‘Education’ belongs to the
(A) Union List
(B) State List
(C) Concurrent List
(D) Residuary Subjects

59. The gas usually filled in the electric bulb is
(A) Nitrogen (B) Hydrogen
(C) carbon dioxide (D) Oxygen

60 Quartz crystals normally used in quartz
clocks etc. is chemically
(A) silicon dioxide
(B) germanium oxide
(C) a mixture of germanium oxide and

silicon dioxide
(D) sodium silicate

61. Bromine is -
(A) black solid
(B) red liquid
(C) colourless gas
(D) highly inflammable gas

62.  FFC stands for
(A) Foreign Finance Corporation
(B) Film Finance Corporation
(C) Federation of Football Council
(D) None of these

63. The hardest substance available on earth
is
(A) Gold (B) Iron
(C) Diamond (D) Platinum

64. Tetra ethyl lead is used as
(A) pain killer
(B) fire extinguisher
(C) mosquito repellent
(D) petrol additive

65.  Eritrea, which became the 182nd member
of the UN in 1993, is in the continent of
(A) Asia (B) Africa
(C) Europe (D) Australia

66 Which of the following is used as a
lubricant?
(A) Graphite (B) Silica
(C) Iron Oxide (D) Diamond

67. The gases used in different types of welding
would include
(A) oxygen and hydrogen
(B) oxygen, hydrogen, acetylene and

nitrogen
(C) oxygen, acetylene and argon
(D) oxygen and acetylene

68. The property of a substance to absorb
moisture from the air on exposure is called
(A) osmosis (B) deliquescence
(C) efflorescence (D) desiccation

57. isfUly esa fuEu esa ls D;k iz;ksx gksrk gS ?
(A) xzsiQkbV (B) flfydkWu
(C) pkjdksy (D) iQkLiQksjl

58. ^f'k{kk* buesa ls lacaf/r gS&
(A) la?kh; lwph (B) jkT; lwph
(C) leorhZ lwph (D) vof'k"V fo"k;ksa

59. fo|qr cYc esa lkekU;r% Hkjh tkus okyh xSl gS&
(A) ukbVªkstu (B) gkbMªkstu
(C) dkcZu MkbZ vkWDlkbM (D) vkWDlhtu

60 DokV~tZ ?kfM+;ksa esa lkekU; :i ls bLrseky fd;k tkus okyk
DokV~tZ fØLVy gS &
(A) flfydksu MkbZvkWDlkbM
(B) tesZfu;e vkWDlkbM
(C) tesZfu;e vkWDlkbM rFkk flfydksu MkbZvkWDlkbM dk

feJ.k
(D) lksfM;e flfydsV

61. czksfeu gS&
(A) dkyk iRFkj (B) yky nzO;
(C) jaxghu xSal (D) vfr Toyu'khy xSal

62.  FFC rkRi;Z gS&
(A) Foreign Finance Corporation
(B) Film Finance Corporation
(C) Federation of Football Council

(D) buesa ls dksbZ ugha
63. i`Foh ij mifLFkr lcls dBksj inkFkZ gS &

(A) lksuk (B) yksgk
(C) ghjk (D) IysfVue

64. VsVªk bFkk;y ysM iz;ksx fd;k tkrk gS &
(A) nnZ 'kked
(B) vfXu 'kked
(C) ePNj ekjd
(D) isVªksy laxyuh

65.  bfjfVfj;k] tks fd 1993 esa la;qDr jk"Vª la?k dk 182ok¡
lnL; cuk] fdl egk}hi esa gS \
(A) ,f'k;k (B) vfizQdk
(C) ;wjksi (D) vkWLVªsfy;k

66 fuEu esa ls dkSu&lk Lusgd ds :i esa iz;kssx fd;k tkrk gS?
(A) xzsiQkbV (B) flfydk
(C) vk;ju vkWDlkbM (D) ghjk

67. osfYMax ds fofHkUu izdkjksa esa iz;ksx fd;k tkus okys xSlksa esa
'kkfey gksxk &
(A) vkWDlhtu ,oa gkbMªkstu
(B) vkWDlhtu] gkbMªkstu] ,lhfVfyu rFkk ukbVªkstu
(C) vkWDlhtu] ,lhfVfyu rFkk vkxZu
(D) vkWDlhtu rFkk ,lhfVfyu

68. gok ls ueh dks vo'kksf"kr djus okys inkFkZ ds xq.k dks dgk
tkrk gS &
(A) ijklju (B) izLosnu
(C) mRiQwyu (D) fldqM+uk
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69.  Galileo was an Italian astronomer who
(A) developed the telescope
(B) discovered satellites of Jupiter
(C) discovered that the movement of

pendulum produces a regular time
interval

(D) All of the above
70. In which of the following activities silicon

carbide is used?
(A) Making cement and glass
(B) Disinfecting water of ponds
(C) Cutting very hard substances
(D) Making casts for statues

71. The average salinity of sea water is
(A) 3% (B) 3.5%
(C) 2.5% (D) 2%

72. On which date, the Indian Army Day is
celebrated ?
(A) January 15 (B) January 21
(C) January 11 (D) January 18

73. Which of the following cities is the host for
the 66th Senior National Basketball
Championship for Men and Women ?
(A) Allahabad (B) Mysore
(C) Ludhiana (D) Kolkata

74. When an iron nail gets rusted, iron oxide is
formed
(A) without any change in the weight of the

nail
(B) with decrease in the weight of the nail
(C) with increase in the weight of the nail
(D) without any change in colour or weight

of the nail
75. How many zones in Indian Railway ?

(A) 18 (B) 16
(C) 14 (D) 15

76.  Grand Central Terminal, Park Avenue, New
York is the world’s
(A) largest railway station
(B) highest railway station
(C) longest railway station
(D) None of the above

77. The variety of coal in which the deposit
contains recognisable traces of the original
plant material is
(A) bitumen (B) anthracite
(C) lignite (D) peat

78.  Entomology is the science that studies
(A) Behavior of human beings
(B) Insects
(C) The origin and history of technical and

scientific terms
(D) The formation of rocks

79.  Garampani sanctuary is located at
(A) Junagarh, Gujarat
(B) Diphu, Assam
(C) Kohima, Nagaland
(D) Gangtok, Sikkim

69.  xSysfy;ks ,d bVkfy;u [kxksyfon Fkk ftlus
(A) VsfyLdksi dk vkfo"dkj fd;k
(B) c`gLifr xzg ij mixzgksa dk [kkst fd;k
(C) [kkst fd;k dh isaMqye dh xfr lnSo leku varjky

n'kkZrh gSA
(D) mijksDr lHkh

70. fuEu esa ls dkSu ls xfrfof/;ksa esa flfydkWu dkckZbM dk
iz;ksx fd;k tkrk gS &
(A) flesaV vkSj dk¡p ds fuekZ.k esa
(B) rkykc ds ty dks fo"kk.kq jfgr djus esa
(C) cgqr dBksj inkFkksZa dks dkVus esa
(D) izfrek fuekZ.k ds lkaps cukus esa

71. leqnz ds ty dh vkSlr yo.krk gS &
(A) 3% (B) 3.5%
(C) 2.5% (D) 2%

72. Hkkjrh; Fky lsuk fnol fdl fnu euk;k tkrk gS ?
(A) 15 tuojh (B) 21 tuojh
(C) 11 tuojh (D) 18 tuojh

73. iq:"kksa rFkk efgykvksaa ds 66osa lhfu;j jk"Vªh; ckLdsV ckWy
izfr;ksfxrk dh estckuh fuEu esa ls dkSu lk 'kgj dj jgk gS ?
(A) bykgkckn (B) eSlwj
(C) yqf/;kuk (D) dksydkrk

74. tc yksgs dh dhy esa tax yx tkrk gS rks vk;ju vkWDlkbM
curk gS &
(A) dhy ds Hkkj esa dksbZ ifjorZu ugha gksrk
(B) dhy ds Hkkj esa deh gksrk gS
(C) dhy ds Hkkj esa o`f¼ gksrk gS
(D) dhy ds jax rFkk Hkkj esa dksbZ ifjorZu ugha gksrk

75. Hkkjrh; jsyos esa fdrus tksu gS ?
(A) 18 (B) 16
(C) 14 (D) 15

76.  xzk.M lsaVªy VfeZuy] ikdZ ,osU;q] U;w;kWdZ nqfu;k dk gS&
(A) lcls cM+k jsyos LVs'ku
(B) lcls m¡pk jsyos LVs'ku
(C) lcls yEck jsyos LVs'ku
(D) mijksDr esa ls dksbZ ugha

77. dks;ys dk og izdkj ftlds ijrksa esa igpkuus ;ksX; ewy
ouLifr inkFkZ ds vo'ks"k ekStwn gksrs gS&
(A) fcVqfeu (B) ,UFkszlkbV
(C) fyXukbV (D) ihV

78.  ,aVkseksykWth og foKku gS ftlesa i<+k tkrk gS &
(A) euq"; dk LoHkko
(B) dhV
(C) rduhdh ,oa oSKkfud 'kCnksa dh mRifÙk ,oa bfrgkl
(D) pV~Vkuksa ds cuus dh izfØ;k

79.  xjeikuh vH;kj.; fLFkr gS
(A) twukx<+] xqtjkr
(B) nhiQw] vle
(C) dksfgek] ukxkyS.M
(D) xaxVksd] flfDde
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80.  For which of the following disciplines is

Nobel Prize awarded?

(A) Physics and Chemistry

(B) Physiology or Medicine

(C) Literature, Peace and Economics

(D) All of the above

81. The inert gas which is substituted for

nitrogen in the air used by deep sea divers

for breathing, is

(A) Argon (B) Xenon

(C) Helium (D) Krypton

82. Hitler party which came into power in 1933

is known as

(A) Labour Party (B) Nazi Party

(C) Republic Party

(D) Democratic Party

83.  Fastest shorthand writer was

(A) Dr. G. D. Bist (B) J.R.D. Tata

(C) J.M. Tagore (D) Khudadaf Khan

84. What is the name of the new crop insurance

scheme approved by the union cabinet ?

(A) Mahatma Gandhi Fasal Bima Yojana

(B) Atal Fasal Bima Yojana

(C) Pradhan Mantri Fasal Bima Yojana

(D) Deen Dayal Upadhyaya Fasal Bima

Yojana

85.  Epsom (England) is the place associated

with

(A) Horse racing (B) Polo

(C) Shooting (D) Snooker

86.  First human heart transplant operation

conducted by Dr. Christiaan Barnard on

Louis Washkansky, was conducted in

(A) 1967 (B) 1968

(C) 1958 (D) 1922

87.  Habeas Corpus Act 1679

(A) states that no one was to be imprisoned

without a writ or warrant stating the

charge against him

(B) provided facilities to a prisoner to obtain

either speedy trial or release in bail

(C) safeguarded the personal liberties of the

people against arbitrary imprisonment

by the king’s orders

(D) All of the above

88.  Golf player Vijay Singh belongs to which

country?

(A) USA (B) Fiji

(C) India (D) UK

89 Which of the gas is not known as green

house gas?

(A) Methane (B) Nitrous oxide

(C) Carbon dioxide (D) Hydrogen

80.  fuEu esa ls fdl fo"k;ksa esa ukscsy iqjLdkj fn;k tkrk gS ?
(A) HkkSfrd ,oa jlk;u
(B) fiQft;ksykWth ;k fpfdRlk
(C) lkfgR;] 'kkafr rFkk vFkZ'kkL=k
(D) mijksDr lHkh

81. lk¡l ysus ds fy, xgjs leqnz esa xksrk[kksjks }kjk iz;ksx fd;k
tkus okyk gok esa ukbZVªkstu dks izfrLFkkfir djus okyk
fuf"Ø; xSl gS
(A) vkxZu (B) ”khukWu
(C) fgyh;e (D) fØIVkWu

82. fgVyj dh ikVhZ tks 1933 esa lÙkk esa vk;h Fkh &
(A) yscj ikVhZ
(B) ukth ikVhZ
(C) fjifCyd ikVhZ
(D) MseksØsfVd ikVhZ

83.  lcls rst 'kkVZgS.M fy[kus okys O;fDr Fks&
(A) MkW th- Mh- fcLV (B) ts- vkj- Mh- VkVk
(C) ts- ,e- VSxksj (D) [kqnknkn [kku

84. dsUnzh; ea=kheaMy }kjk Lohdkj dh xbZ ubZ iQly chek ;kstuk
dkSu lk gS  ?
(A) egkRek xk¡/h iQly chek ;kstuk
(B) vVy iQly chek ;kstuk
(C) iz/ku ea=kh iQly chek ;kstuk
(D) nhu n;ky mikè;k; iQly chek ;kstuk

85.  ,ilkse (bXyS.M) ls tqM+k gqvk LFkku gS &
(A) ?kqM+ nkSM+ (B) iksyks
(C) fu'kkusckth (D) Luwdj

86.  igyk ekuo g`n; izR;kjksi.k 'kY; fpfdRlk MkW fØfLV;ku
cukZM }kjk yqbZl okLdkULdh ij fdl o"kZ fd;k x;k Fkk\
(A) 1967 (B) 1968

(C) 1958 (D) 1922

87.  gSfc;l dkWiZl /kjk 1679 &
(A) ds vuqlkj fdlh Hkh O;fDr dks fcuk vkjksi of.kZr fjV

;k okjsaV ds tsy ugha fd;k tk ldrkA
(B) fdlh dSnh dks ;g lqfo/k nsrk gS fd ;k rks mls

tekur ij NksM+ fn;k tk, ;k lquokbZ tYnh fd;k
tk,A

(C) 'kkld ds vkns'k ls euekuk dkjkokl ds f[kykiQ
yksaxks dh O;fDrxr Lora=krk dh j{kkA

(D) mijksDr lHkhA
88.  xksYiQ f[kykM+h fot; flag dk laca/ fdl ns'k ls gS ?

(A) la;qDr jkT; vesfjdk (B) fiQth
(C) Hkkjr (D) ;qukbVsM fdaxMe

89 dkSu lh xSl xzhu gkml xSl ds :i esa ugha tkuh tkrh gS?
(A) feFksu (B) ukbVªl vkWDlkbM
(C) dkcZu MkbZvkWDlkbM (D) gkbMªkstu
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90. Who was the first Indian to become member

of British Parliament?

(A) W.C. Bannerjee

(B) Behramji M. Malabari

(C) D.N. Wacha

(D) Dadabhai Naoroji

91. Which British Military Officer defeated Tipu

Sultan in India, Napolean Bonaparte in

Europe and eventually became the Duke

of Wellington?

(A) Arthur Wellesley (B) Robert Clive

(C) Warren Hastings (D) Richard Wellesley

92. The Chola kings were ruling over

(A) Tamil Nadu (B) Andhra

(C) Kerala (D) Bengal

93. On the tributary of which river has Rihand

Dam been constructed?

(A) Chambal (B) Yamuna

(C) Son (D) Periyar

94. Which one of the following countries does

not border Lake Victoria?

(A) Kenya (B) Tanzania

(C) Uganda (D) Zambia

95. Washing soda is the common name for

(A) Sodium carbonate

(B) Calcium bicarbonate

(C) Sodium bicarbonate

(D) Calcium carbonate

96. Which one of the following zones of the

atmosphere is rich in ozone gas?

(A) Mesosphere (B) Troposphere

(C) Stratosphere (D) Ionosphere

97. What is the maximum time interval

permitted between two sessions of

Parliament?

(A) 4 months (B) 6 months

(C) 8 months (D) 9 months

98. Which one of the following lakes in the India

has the highest water salinity?

(A) Dal (B) Chilika

(C) Wular (D) Sambhar

99. Which of the following metals forms an

amalgam with other metals?

(A) Tin (B) Mercury

(C) Lead (D) Zinc

100. Chemical formula for water is

(A) NaAlO
2

(B) H
2
O

(C) Al
2
O

3
(D) CaSiO

3

90. fczfV'k laln dk lnL; cuus okyk igyk Hkkjrh; dkSu Fkk\

(A) MCY;w- lh- cSuthZ

(B) csgjketh  ,e- ekykckjh

(C) Mh- ,u- okpk

(D) nknkHkkbZ ukSjksth

91. og dkSu fczfV'k lSU; vf/dkjh Fkk ftlus Hkkjr esa Vhiw

lqYrku dks rFkk ;wjksi esa usiksfy;u cksukikVZ dks gjk;k rFkk

vUrr% M~;wd vkWiQ osfyaxVu cuk\

(A) vkFkZj osysLyh (B) jkWcVZ Dykbo

(C) okjsu gSfLVax (D) fjpMZ osysLyh

92. pksy jktkvksa dk 'kklu Fkk

(A) rfey ukMq ij (B) vka/z ij

(C) dsjy ij (D) caxky ij

93. fjgan cka/ fdl unh dh lgk;d unh ij cuk;k x;k gS\

(A) pacy (B) ;equk

(C) lksu (D) isfj;kj

94. fuEufyf[kr ns'kksa esa ls dkSu&lk ,d foDVksfj;k >hy ls

lhekorhZ ugha gS\

(A) dsU;k (B) ratkfu;k

(C) ;qxk.Mk (D) tkfEc;k

95. /ksou lksMk dk jklk;fud uke gS &

(A) lksfM;e dkcksZusV (B) dSfYl;e ckbZdkcksZusV

(C) lksfM;e ckbZdkcksZusV (D) dSfYl;e dkcksZusV

96. fuEufyf[kr esa ls dkSu&lk ,d ok;qe.Myh; tksu vkstksu

xSl ls lè¼ gS\

(A) eè;e.My (B) {kksHke.My

(C) lerkie.My (D) vk;ue.My

97. laln ds nks l=kksa ds chp fuEufyf[kr esa ls vf/d ls

vf/d fdrus le; dk vUrjky fn;k tk ldrk gS\

(A) 4 ekl (B) 6 ekl

(C) 8 ekl (D) 9 ekl

98. Hkkjr esa fuEufyf[kr esa ls dkSu&lh ,d >hy esa ty dh

yo.krk vf/dre gS\

(A) My (B) fpfydk

(C) oqyj (D) lkEHkj

99. fuEu esa ls dkSu&lk /krq nwljs /krq ls feydj feJ.k cukrk

gS ?

(A) fVu (B) ikjk

(C) lhlk (D) ftad

100. ty dk jklk;fud lw=k gS &
(A) NaAlO

2
(B) H

2
O

(C) Al
2
O

3
(D) CaSiO

3


